Name F‘EY _ Class ___ m

18. ou could 12 atoms of co into a beaker g fiitric ’ h o.ve

, acld, howmany mglecule O woul uced?
’a;_ < c 8 ?.T\'Okf-he.c\ "Hi\t:
‘ b. 4 d. 12 $\'cd‘ \oN g we c\\d

‘"N class os
(. Problems wetl !

Solve the following problems in the space provided. Show your work.

19. What is the limiting reagent when 49.84 g of nitrogen rea
rogen according to this balanced i

¥ 3H,(g) = 2NH;(g)

20. How many grams of CO are needed to react with an excess of Fe,0, to produce

558 g Fe? The equation for the reaction is:
Fe,03(s} + 3CO(g) — 3CO,(g) + 2Fe(s)

E:?SF°I | mel Fe | 3melco| 22gc0 - '-l-l"l.logc'o
|55.954 Fe lzmo:t::l‘""’“-o

produce 15.0 g of CO,?
- 2CH (@) + 130,(g) — 8CO,(g) + 10H,0(g)

’ 21. How many grams of butane (C,H,,) must be burned in an excess of O, to

15 30 [ Imolco, [amot CoH o] 583 Captyq .
I '-l"-l's o, Ig el (O, ‘ A el GuH

22. a. 1f4.0 g of H, are made to react with excess CO, how many grams of CH,OH
can theoretically be produced according to the following equation?

CO(g) + 2H,(g) — CH;0H()

A4 g CyHy,

! Hoagw |\
. mel Bl Lot a0

g 3 z“ "-\l —a 3 3230&!3@\-& - 22 SC'H—%O’\
g :lsHa lMlHI \ Mmool CHy 0 W
£ b. If 28.0 g of CH,OH are actually produced, what is the percent yield?
3
: 8

28 .0 -

3 X100 = §1.5°%,
"33..5
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£. | dditional Problems \ ALfSO4), 15
Liming

e 25

Solt 7 the following problems in the space provided. Show your work.

24. A5.00 X 10° g sample of Al,(SO,); is made to react with 450 g of Ca(OH),. A to
of 596 g of CaSO, is produced. The balanced equation is:

AL(SO);(aq) + 3Ca(OH),(aq) — 2AI(OH)(s) +

a. What is the limiting reagent in this reaction?

5639 M,g$001 Lot Al (SOg)s I a met Al{oH);
3% 24 A\,_(SD\D 3\ \ Mot Ptl,(SOq)B

O, (s) _
¢

2 5.92 ot Al(OH),

4+50g CalotD.| lmofCalotd), |2
[.oxg G, | 3

= ot)

- ;[.‘3<3MQ~C_= &.05 mef

b. How many moles of excess reagent are unreacted?

2.7z ol O3 o Calot)s
I et MCOHD

(.01 wor? g
25. How many liters of O, are needed to react completely with 10.0 L of H;S at STE .\ 05 '“_,—Q
according to the following reaction? i -
jo.0 L 11,5 | ImeiH,S |2 mot o, |22.HL0. 0§ CalOt);
¢ exeesSS

26. The decomposition of potassium chlorate gives oxygen gas according to the
) reaction:

» 2KCIO4(s) — 2KCl(s) + 30,(g)
How many grams KClO; are needed to produce 5.00 L of O, at STP?

S.oc ‘-Oz\l"‘—’ioz \zmal kc,;osll‘zflobe\:r.lo;

\‘2.,2-"“—01_, \Bm\bz l inel K.C.JOB

= l%.’Z}-\j
KOy

27. Suppose that the reaction described in question 26 produces 4.80 L of O, in the
laboratory. What is the percent yield?

4.go - O2 ‘ o \
loo X —— 2| AL

5. oo 0O,




_Th'tngs Yo Hhink abouvt for Test
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— Baland ng chemical readions

— | mol of any gas = 22.4 L of that gas
- Study for prachical.

= CAJ&LL.DCL‘FH\S Melar Nass



Cshation |

\Nhen |.009 of Zine metal is placed in
7% wmL o 0.290M lead (T) nifrate. solufion,

Yo(No,), | uystalo o \ead form om the re_a&._sm

Tine- The dher ﬁﬂco—c&‘ i unc nitvate, Zn(Noy), .
Which is {he 1imitng reactant 7 How many

o ams & \ead will be formed ?

\.\N.: t___ ﬂ@ﬁ?—ca le __t NSHZQ«JN



Station 2

How many grams of codivm culfate
Will be formed if you gart With 2009 sodium
r/?:ex.&@ Pg_ Ae. hoye an €¥X(ess om

Guifuric ad 4"

NaoW| +_H.504™7 - W0 t__Na,Soy

cmmmmenns®



) 2 d-ES m?:?ﬂo om ammonia ¢ 3.;3_
Wi Y.c0 9 of Oxygen. Which e the
:g._.::w ﬂmsofu.h# and Teii s:cn_a excess

reactant revwing b

Zzw t 0, lv.....Zo i_H.,o

a—



Station | Hnswer:

70 4 PL(NO), > P T 20 (003,

I.oos,ml \ vaol 2 \ ot Pl e et -
= O.
\(‘9'3?3% \wao\ Tin

mo\f’b

\OOON‘-\ ' \\wl WLNO'QL

an m- \ \O.'LQO o) P\-(NO;)-‘ \\ ol P
e = 0.0c0bL2%

Polnold, i€ W\ rFing

¢, col® ol Plol 5 oq .2 I
| SN \ a P :\Ll“‘g 3?\9 ‘
\\Mo\ L4

Station 2 Answer:

|
2 jyaO0H + p,s04 > Z v, 0 F 1 Na,SOu

R00c Na o
< W]\ wol Naow \ twol N, S0y i |42, 0% 4 N2z =04

} RO q Nao )
i ol NaO W ——
3 i = \ \ ol Nog SOy

= 265.126 q Na 50
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